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Vereinfachung von Exponentenausdriicken (2
Variablen)

Name:

4 I x 0y

3% PSRRI D

T 5 (3 x 6D

8 x y(—3) 2 (x(—Z) )6 w2 (),3 )3

2x(—3) « y(—3)(x6 « y6)3

Datum: Ergebnis:

5 x y(—l) ) (x6)(—3) 2 ()/4)(_1)

KD AGED x Dy
8 x y(—l)(x4)2

1 x y5 x(—l)(x(—Z))3 x(—3)(y(—2))(—2)

D x A0S x5
I x DD

1 x y(—3)x2 (x6)4x(—1)(y(—1))(—2)
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Vereinfachung von Exponentenausdriicken (2
Variablen)

Name:

4 Y x 0y

4x3y 15

3 x ys 3 (x(—z))zx(—3) (y4)(—1)
3y

x4

T 5 (3 x 6D
7

x7y10

8 x y(—3) 2 (x(—Z))6 w2 0,3 )3

2x(—3) « y(—3)(x6 « y6)3
15_15
2y

Datum: Ergebnis:

5 x y(—l) ) (x6)(—3) 2 ()/4)(_1)
5

22 0%

5

x(_l) X y4(x(_1) )(y(_l))2
8 X y(—l)(x4)2

8x11

1 x y5 x(—l)(x(—2))3 x(—3)(y(—2))(—2)

9
Y
410

6x(—1) % y4(x5 Xy5)3
[ x D D)2

6 1620
Xy

1 x y(—3)x2(x6)4x(_1)(y(—l))(—z)
x25
y
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